parentheses:  ( ) A grouping symbol.  This is commonly used as the first grouping symbol.  They indicate in which order the operations should be preformed.
brackets:  [ ]  A grouping symbol.  Brackets are used when a second grouping symbol is needed.

braces: { }  A grouping symbol.  Braces are used when a third grouping symbol is needed.  
Grouping symbols are often used in order of operation problems.  Example:

4 + 2{3 + 1[5(3 + 2)] + 6}
4 + 2{3 + 1[5  6] + 6}
4 + 2{3 + 1  30 + 6}
4 + 2{3 + 30 + 6}
4 + 2{39}
 4 + 78 = 82
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expressions: a mathematical phrase that has no equality or inequality signs  Example:

7  5		2(3 + 4)	3 – 9 + 7	2 + 4 – 6  8

corresponding terms: Given a rule, generate a number pattern with two sets.  For example given one rule to multiply the first number by 2 to get the second number and given a second rule to multiply the first number by 4 to get the second number.  The second number in second rule should be twice the size of the second number in the first rule.

First rule:  		(1,2)  (2,4)  (3,6)   (4,8)…

Second rule: 		(1,4)  (2,8)  (3,12)  (4,16)…

coordinate plane:  
 (
This is a coordinate plane.  It can be called a coordinate grid or Cartesian plane.  It has two axes and four quadrants.  The two number lines form the axes.  The horizontal number line is called the x-axis and the vertical number line is called the y-axis.  The four quadrants are number counter clockwise.
)[image: ]

exponent:  An exponent tells how many times the base is used as a factor.
 (
factor
) (
exponent
) (
base
)                                35 = 3 3  3  3  3


identity property of multiplication:  This is also called the multiplicative identity.  The identity for multiplication is the number 1, because 1 multiplied by any number is equal to that number.  m  1 = 1  m is equal to m.  
benchmark fractions:  Benchmark fractions are used for estimation.  When you 
add    +  =  +   you get  .  When you estimate the addition, you would think that 
  is closer to  and  is closer is  so your estimated answer would be about 1. The benchmarks used with fractions are 0, , 1.  Also  is less than  and  is more than , so we know that  < .

unit fractions to multiply all fractions:  Refer to 4.NF.3 for background knowledge.  
 (
A model for 
  
 represents one whole.
  represents  
   
   
   
 represents four 
 sections.
)[image: ][image: ][image: ][image: ][image: ][image: ]

















Connect these to form an array.








 (
3 ½ 
4
) (
To find the
 area of a rectangle you have to multiply the length and width of the rectangle.  In the rectangle above you would multiply
 3 
 
 
 4 = 14.  Or you could count the tiles that are covered in the rectangle.
)





scaling (resizing):  Refer to 4.OA.1 for background knowledge.  Scaling is a multiplicative comparison.  It compares the size of a product to the size of one factor on the basis of the size of the other factor.  Example: 12 = 3  4 so 12 is 3 times as many as 4 and 4 times as many as 3.

real world problems:  A problem that has context not just symbols.  It is a practical world problem as opposed to an academic world problem.  They are drawn from actual events or situations.
 (
A solid figure that has all right angles with opposite faces congruent rectangles.
.
)
right rectangular prism:  
[image: http://library.thinkquest.org/20991/media/geo_rprism.gif]





 (
The two number lines form the axes.  The horizontal number line is called the x-axis and the vertical number line is called the y-axis.  
)axis:  
[image: ]

 (
The four quadrants are number counter clockwise.
  They are formed by the x-axis and y-axis.
)quadrant: 
[image: ]

hierarchy:  Any system of things ranked one above the another.  Example:  A hierarchy for geometry would be simple closed curves, polygons, quadrilaterals, parallelograms.
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